
Answer on Question #73540 – Math – Statistics and Probability 

𝑆ℎ𝑒𝑖𝑙𝑎′𝑚𝑒𝑎𝑠𝑢𝑟𝑒𝑑 𝛽, 𝑎 𝑔𝑙𝑢𝑐𝑜𝑠𝑒 𝑙𝑒𝑣𝑒𝑙 𝑎𝑓𝑡𝑒𝑟 𝑖𝑛𝑔𝑒𝑠𝑡𝑖𝑛𝑔 𝑡ℎ𝑒 𝑠𝑢𝑔𝑎𝑟𝑦 𝑑𝑟𝑖𝑛𝑘. 

𝛽~𝑁𝑎;𝜎2 , 𝑎 = 125, 𝜎 = 10 

From the task conditions we have: 

(𝑃{𝛽 > 𝐿})2 = 0.05; 𝑃{𝛽 > 𝐿} = 1 − 𝑃{𝛽 < 𝐿} = 1 − 𝑁𝑎;𝜎2(𝐿) = 1 − Ф (
𝐿 − 𝑎

𝜎
) ,

Ф 𝑖𝑠 𝑡ℎ𝑒 𝑐𝑑𝑓 𝑜𝑓 𝑡ℎ𝑒 𝑛𝑜𝑟𝑚𝑎𝑙 𝑑𝑖𝑠𝑡𝑖𝑏𝑢𝑡𝑖𝑜𝑛 𝑤𝑖𝑡ℎ 𝑝𝑎𝑟𝑎𝑚𝑒𝑡𝑒𝑟𝑠 

 𝑎 = 0; 𝜎 = 1; 

Ф (
𝐿 − 𝑎

𝜎
) = 1 − √0.05 = 0.7763 

To solve this equation, we use a table of values of the cdf of the normal distribution 

(Ф(𝑡) = 0.7763): 

According to the table we have 𝑡 = 0.76: 

𝑡 =
𝐿−𝑎

𝜎
= 0.76; 

𝐿 = 0.76𝜎 + 𝑎 = 7,6 + 125 = 132.6. 

Answer: 132.6. 
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